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NTA CUET PG ENTRANCE EXAM_13th March to 01st April
2025

Application No 253510480207

Candidate Name Aditi Kumari

Roll No. BR070201546

Test Date 25/03/2025

Test Time 4:00 PM - 5:30 PM

Subject General Management
Q.1

Choose the correct alternative for the underlined portion:
Each village in the state is provided by electricity supply.

1. provided in
2. provided for
3. provided with
4. provided

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773846
Option 1 ID : 80487715301
Option 2 ID : 80487715302
Option 3 ID : 80487715303
Option 4 ID : 80487715304

Status : Answered

Chosen Option : 3
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Q.2
Choose the correct alternative for the underlined portion:
Nothing please her more than reading books and magazines.
1. please
2. have pleased
3. pleases
4. are pleasing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773847
Option 1 ID : 80487715305
Option 2 ID : 80487715306
Option 3 ID : 80487715307
Option 4 ID : 80487715308
Status : Answered
Chosen Option : 1
Q.3
Which one of the following best improves the underlined phrase?
Deactivated viruses form the basis of many vaccines known for their effectiveness to prevent diseases.
1. to prevent
2. in preventing
3. with preventing
4. preventing
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773848
Option 11D : 80487715309
Option 2 ID : 80487715310
Option 3 ID : 80487715311
Option 4 ID : 80487715312
Status : Answered
Chosen Option : 1
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Q.4
Which one of the following best improves the underlined portion?
However, wood sculptures are vulnerable to decay, insect damage and fire. As a result, they hang_around far less often
than sculptuers made of more durable materials.
1.dry out
2. hang around
3. survive
4. stay on
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773849
Option 11D : 80487715313
Option 2 ID : 80487715314
Option 3 ID : 80487715315
Option 4 ID : 80487715316
Status : Answered
Chosen Option : 2
Q.5
Which one of the following is the correct grammatical form of the underlined portion?
Two out of every fifteen college students who majer in computer science will go on to become small business owner at
some point in their lives.
1. small businesses owner
2. small business owners
3. small business’s owners
4. small business's owner
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773850
Option 11D : 80487715317
Option 2 ID : 80487715318
Option 3 ID : 80487715319
Option 4 ID : 80487715320
Status : Answered
Chosen Option : 3
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Q.6
Which of the following is the correct grammatical form of the underlined portion?
‘Hansel and Gretel', an enchanting fairy tale, is the story of two young children whom stumble acress a cottage made
of gingerbread.
1. whose stumble
2. whom stumbled
3. which stumble
4. who stumble
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773851
Option 1 ID : 80487715321
Option 2 ID : 80487715322
Option 3 ID : 80487715323
Option 4 ID : 80487715324
Status : Answered
Chosen Option : 1
Q.7
Complete the concluding sentence of the following paragraph with one of the options given below:
Manufacturing companies are often faced with a trade-off between advances in productivity, which is ane of the main
goals of automation, and flexibility. When firms implement procedures that make repetitive processes more
streamlined, they are able to produce more food at a faster rate. At the same time, however,
1. engagement in engineering teams frequently comes down.
2. it is impossible to measure the impact of technology before it is launched.
3. they become less likely to implement new and creative ideas.
4. workers are able to focus on the most interesting parts of their jobs.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773852
Option 11D : 80487715325
Option 2 ID : 80487715326
Option 3 ID : 80487715327
Option 4 ID : 80487715328
Status : Answered
Chosen Option : 4
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Q.8
Complete the concluding sentence of the following paragraph with one of the options given below:
In the 1960s, Jane Goodhall observed chimpanzees removing termites from hides with strapped twigs.
Initially, researchers were unable to determine whether the animals viewed a group of tasks as a single problem
requiring a general tool set or used individual tools to solve specific tasks. The question was finally resclved when
chimps were observed selecting tools to carry with them in anticipation of particular difficulties. Research, therefore,
concluded that not only are chimpanzees capable of using tocls in a sophisticated way, but they
1. showed marked innovation in tool usage depending on their species.
2. manufacture tools to solve problems that they do not normally encounter.
3. are capable of imagining future situations and adapting their behaviour accordingly.
4. are genetically predisposed to create certain types of tools.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773853
Option 11D : 80487715329
Option 2 ID : 80487715330
Option 3 ID : 80487715331
Option 4 ID : 80487715332
Status : Answered
Chosen Option : 2
Q.9
Which one of the following best conveys the meaning of the given expression?
A person who works for the welfare of humankind:
1. Misanthropist
2. Philanderer
3. Philanthropist
4. Platonic
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773854
Option 11D : 80487715333
Option 2 ID : 80487715334
Option 3 ID : 80487715335
Option 4 ID : 80487715336
Status : Answered
Chosen Option : 2
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Q.10
Which one of the following best conveys the meaning of the given expression?
Extreme desire for wealth:
1. Omniverous
2. Avaricious
3. Gregarious
4. Carnivorous
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773855
Option 1 ID : 80487715337
Option 2 ID : 80487715338
Option 3 ID : 80487715339
Option 4 ID : 80487715340
Status : Answered
Chosen Option : 2
Q.11
Which one of the following words is the Antonym of the word- ‘warily'?
1. recklessly
2. dramatically
3. judiciously
4. suspiciously
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773856
Option 11D : 80487715341
Option 2 ID : 80487715342
Option 3 ID : 80487715343
Option 4 ID : 80487715344
Status : Answered
Chosen Option : 1
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Q.12
Which one of the following words means the same as "eradicate’?
1. renew
2. confuse
3. evolve
4. remove
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773857
Option 1 ID : 80487715345
Option 2 ID : 80487715346
Option 3 ID : 80487715347
Option 4 ID : 80487715348
Status : Answered
Chosen Option : 3
Q.13
Choose the correct meaning of the underlined phrase in the given context from the options given below:
The manager had to pull strings to get invitation passes for the concert.
1. play music
2. use personal influence
3. to be courageous
4. remain calm
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773858
Option 1 ID : 80487715349
Option 2 ID : 80487715350
Option 3 ID : 80487715351
Option 4 ID : 80487715352
Status : Answered
Chosen Option : 3
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Q.14
Complete the given sentence by choosing a suitable phrase from the options provided:
The Mayor filled up all the vacancies in his department with his
1. hard and fast
2. kith and kin
3. helter skeltar
4. baited breath
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773859
Option 1 ID : 80487715353
Option 2 ID : 80487715354
Option 3 ID : 80487715355
Option 4 ID : 80487715356
Status : Answered
Chosen Option : 3
Q.15
Replace the underlined part in the following sentence with the correct phrase from the options given below:
He enjoys to tell stories to children.
1. how to tell stories
2. telling stories
3. to narrate stories
4. told stories
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773860
Option 1 ID : 80487715357
Option 2 ID : 80487715358
Option 3 ID : 80487715359
Option 4 ID : 80487715360
Status : Answered
Chosen Option : 2
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Q.16
Replace the underlined word in the following sentence with the correct word from the options given below:
The government tried to illicit support for the bill but failed.
1. illicited
2. elicit
3. illiciting
4. elicited
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773861
Option 11D : 80487715361
Option 2 ID : 80487715362
Option 3 ID : 80487715363
Option 4 ID : 80487715364
Status : Answered
Chosen Option : 2
Q.17
Rearrange the following sentences to form a coherent and meaningful paragraph.
(A) The university president has proposed scheduling several introductory-level classes online in order to save money
on building maintenance and energy costs.
(B) The curriculum would not be changed.
(C) With recent cut backs in educational funding, the state university must reduce its expenditure or face bankruptcy.
(D) Students enrolled in these proposed virtual classrooms’ would be taught the full programme by the same
instructors teaching in the regular classrooms.
Choose the correct answer from the options given below:
1. (). (B). (D), (A)
2. (A), (O (B), (D)
3. (B), (A), (C), (D)
4.(Q), (A). (B). (D)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773862
Option 1 ID : 80487715365
Option 2 ID : 80487715366
Option 3 ID : 80487715367
Option 4 ID : 80487715368
Status : Answered
Chosen Option : 3
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Q.18
Rearrange the following sentences to form a coherent and meaningful paragraph.
(A) Lack of knowledge about the diet is what makes people raise questions.
(B) This diet often characterized as restrictive, is associated with health benefits, however, it raises concerns.
(C) The Vegan diet has gained momentum in recent years.
(D) There is a controversy about this diet with some people supporting it and others questioning its benefits.
Choose the correct answer from the options given below:
1.(B). (C). (D) .(A)
2.(C), (B), (D). (A)
3. (D)(O).(B), (A)
4. (A), (D). (B). (C)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773863
Option 11D : 80487715369
Option 2 ID : 80487715370
Option 3 ID : 80487715371
Option 4 ID : 80487715372
Status : Answered
Chosen Option : 3
Q.19

Improve the following sentence by replacing the underlined word from the options given below. If the sentence cannot
be improved, choose option 4.

The Board of Directors decided to devolve into the matter to find a solution.

1. delve

2. deduce

3. deflect

4. No improvement required

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773864
Option 1 ID : 80487715373
Option 2 ID : 80487715374
Option 3 ID : 80487715375
Option 4 ID : 80487715376

Status : Answered
Chosen Option : 4
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Q.20
Choose the correct word from the following options which best expresses the phrase given below:
"Word for word"
1. Verbose
2. Verbatim
3. Virtue
4. Vicarious
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773865
Option 11D : 80487715377
Option 2 ID : 80487715378
Option 3 ID : 80487715379
Option 4 ID : 80487715380
Status : Answered
Chosen Option : 3
Q.21
Choose the appropriate Synonym of the given word from the options given below:
‘DEMURE’
1. Withdrawn
2. Shy
3. Brazen
4. Brash
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773866
Option 11D : 80487715381
Option 2 ID : 80487715382
Option 3 ID : 80487715383
Option 4 ID : 80487715384
Status : Answered
Chosen Option : 3
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Q.22
Choose the appropriate meaning of the following Idiom from the options given below:
(To) Hit the nail on the head means:
1. Severe blow on the head
2. Hit somebody hard
3. To do or say exactly the right thing
4. Hit the coffin with a hammer on the head side of the lid
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773867
Option 11D : 80487715385
Option 2 ID : 80487715386
Option 3 ID : 80487715387
Option 4 ID : 80487715388
Status : Answered
Chosen Option : 2
Q.23
What will be the profit percentage on selling an article at a certain price if there is 30% loss on selling the article at 2 of
the selling price?
1.20%
2.25%
S
3. ssg%
4. 163%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773872
Option 1 ID : 80487715405
Option 2 ID : 80487715406
Option 3 ID : 80487715407
Option 4 ID : 80487715408
Status : Answered
Chosen Option : 1
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Q.24
Choose the correct alternative from the given options that will complete the series:
BC2, GH3, LM5, QR7,?
1. VW10
2. VW 11
3. XW 11
4. RS 10
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773897
Option 1 ID : 80487715505
Option 2 ID : 80487715506
Option 3 ID : 80487715507
Option 4 ID : 80487715508
Status : Answered
Chosen Option : 2
Q.25
6 men or 5 women earn 16,800 in 4 days. How much will 4 women and 6 men earn in one day?
1.3 7160
2.37260
3. 37460
4.3 7560
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773880
Option 1 ID : 80487715437
Option 2 ID : 80487715438
Option 3 ID : 80487715439
Option 4 ID : 80487715440
Status : Answered
Chosen Option : 4
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Q.26
Select the related figure from the given alternatives:
) @
2. i 2
’ @
) @
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option

MmcaQ

: 8048773898

80487715509

: 80487715510

80487715511

: 80487715512

Answered

03
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Q.27
The symbols hold a specific meaning all mentioned below:
“A # B" means A is greater than B
“A @ B" means A is equal to B
“A % B" means A is smaller than B
Statements : X #Y, 7% Y W@ Z
Conclusions:
1) Y% W
nx#z
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only conclusion (1) follows
2. only Cenclusion (1) follows
3. Both Conclusions follow
4, Neither (I) nor {II) follow
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773900
Option 1 ID : 80487715517
Option 2 ID : 80487715518
Option 3 ID : 80487715519
Option 4 ID : 80487715520
Status : Answered
Chosen Option : 1
Q.28
In a certain code language:
' Logical Reasoning Exam' is written as 'G12 17 D13'.
'Intention Really Matters" is written as '114 F25 G19'
Then how to write ' Work Hard' in the given code?
1.D11 DS
2.011 D4
3.D11 ES
4. 010 D4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773894
Option 11D : 80487715493
Option 2 ID : 80487715494
Option 3 ID : 80487715495
Option 4 ID : 80487715496
Status : Answered
Chosen Option : 4
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Q.29
Consider the given statement and decide which of the given assumptions is/are implicit in the statement.
Statement : This year most of the retail stores are offering heavy discounts and gifts on their products to customers to
meet their targets.
Assumptions :
1) Huge inventories of goods is left unsold in retail stores and sales were not satisfactory.
1) Retail stores have so far earned a lot of profit, so now they have started sharing it with their customers.
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only assumption | is implicit
2. Only assumption Il is implicit
3. Both assumptions | and Il are implicit
4. Neither assumption | nor Il is implicit
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773889
Option 11D : 80487715473
Option 2 ID : 80487715474
Option 3 ID : 80487715475
Option 4 ID : 80487715476
Status : Answered
Chosen Option : 2
Q.30

Three pipes A, B and C can fill a tank in 10, 15 and 20 hours respectively. Pipe A was opened at 6 AM, pipe B at 7 AM

and pipe C at 8 AM. At what time was the tank completely filled, if pipe C needs a break of 1 hour after remaining open
for 3 hours?

1.11:20 AM
2.12:30 PM
3.11:30 AM
4.12:15 PM

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773874
Option 1 ID : 80487715413
Option 2 ID : 80487715414
Option 3 ID : 80487715415
Option 4 ID : 80487715416

Status : Answered
Chosen Option : 1
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Q.31
Two bikes were sold for a total of ¥ 1,50,000. One bike was sold at 33 %% loss and the other at 20% profit. The cost
price of the first bike is equal to the selling price of the other bike. Find the over all loss.
1.%10,000
2.312,000
3.%15,000
4. 18,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773871
Option 1 ID : 80487715401
Option 2 ID : 80487715402
Option 3 ID : 80487715403
Option 4 ID : 80487715404
Status : Answered
Chosen Option : 3
Q.32
If CRAFT is coded as 5 — 21 - 3 - 9 -22. In the same code language ,how will you code ORDER?
1A7=21=6-7-20
2917 =21 =6 =721
3.177-20-6-8-20
4.17-21-6-8-20
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773893
Option 11D : 80487715489
Option 2 ID : 80487715490
Option 3 ID : 80487715491
Option 4 ID : 80487715492
Status : Answered
Chosen Option : 3
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Q.33
Read both statements carefully and select the option accordingly.
Statement (I): This year, there is an unprecedented increase in the number of unemployed youth compared to the
previous year.
Statement (I1): A large number of highly educated candidates submitted applications for the post of clerk advertised by
a bank.
In light of the above statements, choose the most appropriate answer from the options given below.
1. If statement | is the cause and statement Il is its effect
2. If statement Il is the cause and statement | is its effect
3. If both the statements | and Il are independent causes
4. If both the statements | and Il are effects of some common cause
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773888
Option 11D : 80487715469
Option 2 ID : 80487715470
Option 3 ID : 80487715471
Option 4 ID : 80487715472
Status : Answered
Chosen Option : 2
Q.34

Four friends A, B, C, D went to four different cities Indore, Noida, Gurugram and Nagpur for interviews in four different
companies PP, QQ, RR and SS but not necessarily in the same order. ‘A’ was not invited by PP. "B’ did not go to

Gurugram and was not invited by RR and PP. RR conducted its interview in Nagpur. 'C' went to Indore. ‘A’ did not go to
Nagpur and was not invited by SS.

In which company, C's interview was scheduled?

1.PP
2.QQ
3.RR
4.55

Options 1.
2.
3.
4,

AW N -

Question Type : MCQ
Question ID : 8048773884
Option 1 ID : 80487715453
Option 2 ID : 80487715454
Option 3 ID : 80487715455
Option 4 ID : 80487715456

Status : Answered
Chosen Option : 4
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Q.35
Which conclusion would follow the given statements.
Statement :
Some Apples are Banana.
Some bananas are Grapes.
No Grape is Book.
Conclusion:
(1) Some Apples are Book is a possibility.
{Il) All Bananas are Book.
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only conclusion | follows
2. Only conclusion Il follows.
3. Both conclusions | and Il follow
4. Neither conclusion | nor Il follows
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773890
Option 11D : 80487715477
Option 2 ID : 80487715478
Option 3 ID : 80487715479
Option 4 ID : 80487715480
Status : Answered
Chosen Option : 1
Q.36
A train running at the speed of 30 kmph crosses a 250 m long platform in 26 seconds. What is the length of the train
(in m)?
1.300
2.400
3.500
4.600
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773878
Option 11D : 80487715429
Option 2 ID : 80487715430
Option 3 ID : 80487715431
Option 4 ID : 80487715432
Status : Answered
Chosen Option : 3
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Q.37
In an election between two candidates, a candidate who got 30% of the total votes is defeated by 15000 votes. The
number of votes obtained by the winning candidate is:-
1.26,250
2.25250
3. 24,250
4.26,150
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773873
Option 11D : 80487715409
Option 2 ID : 80487715410
Option 3 ID : 80487715411
Option 4 ID : 80487715412
Status : Answered
Chosen Option : 1
Q.38
On a straight road, a bus is 60 km ahead of a car running in the same direction. After 3 hours, the car is 90 km ahead of
the bus. If the speed of the bus is 45 km/h, then what is the speed of the car (in km/h)?
1.90
2.92
3.95
4.105
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773877
Option 1 ID : 80487715425
Option 2 ID : 80487715426
Option 3 ID : 80487715427
Option 4 ID : 80487715428
Status : Answered
Chosen Option : 3
Q.39
A and B have to travel from place P to place Q following the same route in their respective cars. A drives at 60 kmph
while B drives at 80 kmph. Find the time taken by B to reach place Q if A takes 12 hrs.
1.8 hrs
2.10 hrs
3.9hrs
4.6 hrs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773876
Option 1 ID : 80487715421
Option 2 ID : 80487715422
Option 3 ID : 80487715423
Option 4 ID : 80487715424
Status : Answered
Chosen Option : 2
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Select a figure from the options figures which will continue the same series as established by the five problem figures.

[

O

O

A A
w.Q
&

Question Type :
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 ID :

Status :

Chosen Option :

McQ
8048773887
80487715465
80487715466
80487715467
80487715468
Answered

1
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Q.41
Directions : The symbols %, ? and @ are used with the following meanings:
A% B = Alis greater than B
A? B = Als either greater than or equal to B
A @ B = Ais smaller than B
Statement: T@ Q. S?M, QIR U@SS@T
Conclusions :
)Q%s
nuaTt
In light of the above statements,choose the most appropriate answer from the options given below.
1. If only conclusion {I) is true
2. If only conclusion (Il) is true
3. If both conclusion (I) and (11) are true
4. If neither conclusion (1) nor (Il) is true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773899
Option 11D : 80487715513
Option 2 ID : 80487715514
Option 3 ID : 80487715515
Option 4 ID : 80487715516
Status : Answered
Chosen Option : 2
Q.42
P and Q can do a piece of work in 8 and 12 days respectively. If they work for a day alternately, beginning with P, then
the work will be completed in how many days?
1.8
2. 9%
3.10
4, 9%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773882
Option 1 ID : 80487715445
Option 2 ID : 80487715446
Option 3 ID : 80487715447
Option 4 ID : 80487715448
Status : Answered
Chosen Option : 4
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Q.43
Select a suitable figure from the four alternatives that would complete the figure matrix.
o| &
2 —?
3 _._
. +
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773886
Option 11D : 80487715461
Option 2 ID : 80487715462
Option 3 ID : 80487715463
Option 4 ID : 80487715464
Status : Answered
Chosen Option : 1
Q.44
A and B started a business with investment of < 60,000 and ¥ 90,000 respectively. After 5 months, B left the business
and C joined with a capital which is T 60,000 less than that of B. If at the end of the year, the share of C in the profit was
% 42,000, then find the total profit earned at the end of the year.
1.3 2,16,000
2.%2,36,000
3. 2,46,000
4.3 2,76,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773868
Option 1 ID : 80487715389
Option 2 ID : 80487715390
Option 3 ID : 80487715391
Option 4 ID : 80487715392
Status : Answered
Chosen Option : 4
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Q45 The positions of how many digits in the number 2451379638 will remain same when the first half and the second half
of the digits are arranged in ascending order separately?
1. One
2. Two
3. Three
4. Zero
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773883
Option 1 ID : 80487715449
Option 2 ID : 80487715450
Option 3 ID : 80487715451
Option 4 ID : 80487715452
Status : Answered
Chosen Option : 4
Q.46

5 men and 4 women can earn T 20000 in 8 days. 10 men and 7 women can earn ¥ 23,750 in 5 days. In how many days
will 5 men and 6 women earn ¥ 12,0007

1.3
2.4
3.5
4.6

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773879
Option 1 ID : 80487715433
Option 2 ID : 80487715434
Option 3 ID : 80487715435
Option 4 ID : 80487715436

Status : Answered
Chosen Option : 1

Q.47

A sum of X 61,000 is lent on simple interest in two parts in such a way that the interest on one part at 10% for 5 years is
equal to that on the other part at 9% for 8 years. The sum lent at 10% is :-

1.% 39,000
2.% 36,000
3.332,000
4.3 30,000

Options 1.
2.
3.
4.

AW N -

Question Type : MCQ
Question ID : 8048773869
Option 11D : 80487715393
Option 2 ID : 80487715394
Option 3 ID : 80487715395
Option 4 ID : 80487715396

Status : Answered
Chosen Option : 2
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Q.48 Point A is 30 m to the North of point B. Point A is 10 m to the west of point C. Point C is 20m to the North of point D.
Point E is 20 m to the East of point D. Point F is 20 m to the South of point E. What is the shortest distance from the
point B to point E.
1. 10v10m
2.80m
3.10m
4. 4/5m
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773901
Option 1 ID : 80487715521
Option 2 ID : 80487715522
Option 3 ID : 80487715523
Option 4 ID : 80487715524
Status : Answered
Chosen Option : 2
Q.49
A and B are brathers, R and S are sisters. A's son is §'s brother. How is B related to R?
1. Uncle
2. Brother
3. Grand father
4, Father
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773892
Option 11D : 80487715485
Option 2 ID : 80487715486
Option 3 ID : 80487715487
Option 4 ID : 80487715488
Status : Answered
Chosen Option : 2
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Q.50
A and B together can complete a task in 15 days. If A works half as efficiently as he usually does and B works thrice as
efficiently as he usually does, then the task gets completed in 8 days. How many days would A take to do the task if he
works alone?
1. 33%
2. 66%
& 26%
4.30
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773881
Option 1 ID : 80487715441
Option 2 ID : 80487715442
Option 3 ID : 80487715443
Option 4 ID : 80487715444
Status : Answered
Chosen Option : 3
Q.51
In the following question, select the missing number from the given series:
2,5 17,71, 7 2159
1. 349
2.359
3. 369
4. 379
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773895
Option 11D : 80487715497
Option 2 ID : 80487715498
Option 3 ID : 80487715499
Option 4 ID : 80487715500
Status : Answered
Chosen Option : 2
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Q.52
Which one will replace the question mark?
6 4
91 2
1 2
1.3
2.4
3.5
4.6
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773896
Option 1 ID : 80487715501
Option 2 ID : 80487715502
Option 3 ID : 80487715503
Option 4 ID : 80487715504
Status : Answered
Chosen Option : 3
Q.53
What will come in place of question mark (?) in the following series:
12,6,6,9, 18,7
1.42
2. 45
3.50
4. 55
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773891
Option 1 ID : 80487715481
Option 2 ID : 80487715482
Option 3 ID : 80487715483
Option 4 ID : 80487715484
Status : Answered
Chosen Option : 1
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Q.54
Four friends A, B, C, D went to four different cities Indore, Noida, Gurugram and Nagpur for interviews in four different
companies PP, QQ, RR and SS but not necessarily in the same order. ‘A’ was not invited by PP. "B’ did not go to
Gurugram and was not invited by RR and PP. RR conducted its interview in Nagpur. 'C' went to Indere. ‘A’ did not go to
Nagpur and was not invited by SS.
Who went to Nagpur?
1A
2.B
3.C
4.D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773885
Option 1 ID : 80487715457
Option 2 ID : 80487715458
Option 3 ID : 80487715459
Option 4 ID : 80487715460
Status : Answered
Chosen Option : 3
Q.55

Rakesh left home and walked 5km southwards, then turned right and walked 2km and again turned right and walked 5
km and finally again turned left and walked 5 km. The shortest distance between the final positicn and home is .

1.6 km
2. 7km
3.9km
4.10 km

Options 1.
2.
3.
4,

AW N =

Question Type : MCQ
Question ID : 8048773902
Option 1 ID : 80487715525
Option 2 ID : 80487715526
Option 3 ID : 80487715527
Option 4 ID : 80487715528

Status : Answered
Chosen Option : 4
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Q.56
Aman invested a sum of X P for 2 years at 12% p a compound interest and received some interest. Ajay invested
(P+3000) for 3 years at 8% p a simple interest and received the interest same as received by Aman. The sum invested
by Aman is
1.3 25,000
2. 50,000
3.360,000
4.3 65,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773870
Option 11D : 80487715397
Option 2 ID : 80487715398
Option 3 ID : 80487715399
Option 4 ID : 80487715400
Status : Answered
Chosen Option : 3
Q.57
A tank has four pipes Py, P2, P3 and P4. The tank can be filled in 15 minutes by pipes Py, Pz, P; together. It can be filled
in 20 minutes by pipes Ps, P3, P4 tegether and it can be filled by pipes Py, P4 together in 30 minutes. If all the pipes are
opened together, then in how much time will the tank be filled?
1.10 min 20 sec
2.12 min 20 sec
3. 13 min 20 sec
4. 11 min 20 sec
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773875
Option 11D : 80487715417
Option 2 ID : 80487715418
Option 3 ID : 80487715419
Option 4 ID : 80487715420
Status : Answered
Chosen Option : 1
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Q.58
In college B, each student participated in any one or both the sports, Hockey and football. 36% of the students
participated in both the sports. The number of students who participated in only Football is 120% more than those
who participated in only Hockey. The total number of students who participated in only one of the sports is 960.
Find the ratio of number of students who participated in Hockey to those in only football?
1.22:21
2.14:11
3.29:49
4.41:31
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773903
Option 11D : 80487715529
Option 2 ID : 80487715530
Option 3 ID : 80487715531
Option 4 ID : 80487715532
Status : Answered
Chosen Option : 4
Q.59

In college B, each student participated in any one or both the sports, Hockey and Football. 36% of the students
participated in both the sports. The number of students who participated in only Football is 120% more than those
who participated in only Hockey. The total number of students who participated in only one of the sports is 960.

What percentage of the students who participated in Hockey, participated in only Hockey?
2

1. 35-%

2.36%

3. 355%
7

4. 35%

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773904
Option 1 ID : 80487715533
Option 2 ID : 80487715534
Option 3 ID : 80487715535
Option 4 ID : 80487715536

Status : Answered
Chosen Option : 3
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Q.60
The following pie-chart shows the amount collected by a shopkeeper by selling four different food items in degrees.
The total amount collected is 64,800.
= Bengali Dishes
= Pujabi Dishes
= Gujarati Dishes
= Chinese Dishes
Find the average amount collected from the sales of Bengali dishes, Punjabi dishes and Gujarati dishes.
1.%21,190
2.%11,190
3.%21,109
4,317,064
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773905
Option 1 ID : 80487715537
Option 2 ID : 80487715538
Option 3 ID : 80487715539
Option 4 ID : 80487715540
Status : Answered
Chosen Option : 1
Q.61

The fellowing pie-chart shows the amount collected by a shopkeeper by selling four different food items in degrees.
The total amount collected is 64,800.

= Bengali Dishes
= Pujabi Dishes
= Gujarati Dishes

= Chinese Dishes

The amount collected by selling Chinese dishes is approximately what percentage more than the amount collected by
selling Bengali dishes?

1.30%
2.50%
3.20%
4.10%

Options 1.
2.
3.
4,

A W N =

Question Type : MCQ
Question ID : 8048773906
Option 1 ID : 80487715541
Option 2 ID : 80487715542
Option 3 ID : 80487715543
Option 4 ID : 80487715544

Status : Answered
Chosen Option : 1
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Q.62
The following line graph shows the number of questions asked from different topics of quantitative aptitude in two
shifts of CAT exam. Study the following line graph carefully and answer the question that follows.
120
100
£
2 80
ia
g = shift |
a
o 40 . S i 11
z
0
t } } t }
Percentage Profit-Loss Ages Average Mixture
Topics
The number of questions asked in shift | from the topic Profit-Loss is what percent more than the number of questions
asked in shift Il from the topic Average?
1. 250%
2.180%
3.120%
4.150%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773907
Option 1 ID : 80487715545
Option 2 ID : 80487715546
Option 3 ID : 80487715547
Option 4 ID : 80487715548
Status : Answered
Chosen Option : 4
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Q.63
The following line graph shows the number of questions asked from different topics of quantitative aptitude in two
shifts of CAT exam. Study the following line graph carefully and answer the question that follows.
120
100
£
2 80
ia
E e S i |
a
o 40 . S i 11
z
0
t } } t }
Percentage Profit-Loss Ages Average Mixture
Topics
What is the ratio of number of questions asked from the topics Profit-Loss and Percentage taken together in shift | to
those asked from the topics Ages and Average taken together is shift 117
1.7:6
2.7:5
3.87
4.8:3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773908
Option 1 ID : 80487715549
Option 2 ID : 80487715550
Option 3 ID : 80487715551
Option 4 ID : 80487715552
Status : Answered
Chosen Option : 4
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Q.64
Study the following bar-graph carefully and answer the following question. The bar-graph shows the number of pens
(in thousand) sold by three shopkeepers X, Y and Z in 5 different years.
| e =
5 P
e
i
£
fw
s i
d
Z 19
Year
= |
The tetal number of pens sold by shopkeeper X in years 2020 and 2022 taken together is what percentage less than
the total number of pens sold by shopkeeper Z in years 2021 and 2024 taken together? (correct to two decimal places)
1.11.11%
2.22.22%
3.33.33%
4.44.44%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773909
Option 11D : 80487715553
Option 2 ID : 80487715554
Option 3 ID : 80487715555
Option 4 ID : 80487715556
Status : Answered
Chosen Option : 3
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Q.65
Study the following bar-graph carefully and answer the following question. The bar-graph shows the number of pens
(in thousand) sold by three shopkeepers X, Y and Z in 5 different years.
Bl e =
-
= ¥
= 80
Ea
£ 60 =
e —
5 =5
a
= N 20
¢ £ B
Z 10 j—
2020 2021 2022 2023 2024
Year
o |
The number of pens sold by shopkeeper Y in the year 2020 is 25% more than the number of pens sold by him in the
year 2019 and the number of pens sold by shopkeeper Z in the year 2019 is 20% less than those sold by him in the
year 2020. Find the total number of pens sold by the shopkeepers Y and Z in the year 2019.
1.1,15,000
2.1,00,000
3.1.,90,000
4.1,12,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773910
Option 1 ID : 80487715557
Option 2 ID : 80487715558
Option 3 ID : 80487715559
Option 4 ID : 80487715560
Status : Answered
Chosen Option : 3
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Q.66
The following table shows the total number of people who were stuck in traffic jam while geing to their office on
working days of a week due to construction of a flyover. Table also shows the ratio of male to female among them.
Study the table carefully and answer the following question.
Days Total number of people Male : Female
stuck in traffic jam
Monday 6300 34
Tuesday 4800 133
Wednesday 5000 37
Thursday 2500 23
Friday 5400 45
Of the people stuck in traffic jam, if 30% males on Tuesday and 40% males on Wednesday reached their office on
regular time of the office, then how many males got late on Tuesday and Wednesday taken together?
1.1260
2.1250
3.1350
4. 1460
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773911
Option 1 ID : 80487715561
Option 2 ID : 80487715562
Option 3 ID : 80487715563
Option 4 ID : 80487715564
Status : Answered
Chosen Option : 2
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Q.67
The following table shows the total number of people who were stuck in traffic jam while geing to their office on
working days of a week due to construction of a flyover. Table also shows the ratio of male to female among them.
Study the table carefully and answer the following question.
Total number of people
Days Male : Female)
stuck in traffic jam
Monday 6300 34
Tuesday 4800 1:5
Wednesday 5000 37
Thursday 2500 2:3
Friday 5400 45
Find the average number of females who were stuck in traffic on working days.
1.3120
2.3220
3.3520
4. 3000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773912
Option 1 ID : 80487715565
Option 2 ID : 80487715566
Option 3 ID : 80487715567
Option 4 ID : 80487715568
Status : Answered
Chosen Option : 4
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Q.68
The following bar graph shows the production of Iron in a country (in lakh tonnes) in different years.
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The pie chart shows the production of Iron (in lakh tonnes) by five different companies A, B, C, D and E in 2013. These
companies are the only ones to produce iron in all the given years.
Company D produced 75% more iron in 2014 than produced by it in 2013. What percent of iron produced in 2014 was
produced by company D?
1.24%
2.25%
3.28%
4,30%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773913
Option 11D : 80487715569
Option 2 ID : 80487715570
Option 3 ID : 80487715571
Option 4 ID : 80487715572
Status : Answered
Chosen Option : 3
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Q.69
The following bar graph shows the production of Iron in a country (in lakh tonnes) in different years.
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The pie chart shows the production of Iron (in lakh tonnes) by five different companies A, B, C, D and E in 2013. These
companies are the only ones to produce iron in all the given years.
The production of iron by company A in 2013 is what percent of the total iron produced by all the companies during
the given years?
1. 4%
2.8%
3.10%
4. 20%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773914
Option 1 ID : 80487715573
Option 2 ID : 80487715574
Option 3 ID : 80487715575
Option 4 ID : 80487715576
Status : Answered
Chosen Option : 4
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Q.70
In light of the statements | and Il choose the most appropriate option.
If a group comprises of five persons A, B, C, D and E, then how many persons are taller than E?
Statement (1) A is taller than B and B is shorter than A and E only.
Statement (Il) C is shorter than A and A is shorter than E.
1. Only statement | is sufficient to answer the guestion.
2. Only statement |l is sufficient to answer the question.
3. Any of the statements | and Il is sufficient to answer the question.
4. Both statement | and statement Il together are required to answer the question.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773915
Option 11D : 80487715577
Option 2 ID : 80487715578
Option 3 ID : 80487715579
Option 4 ID : 80487715580
Status : Answered
Chosen Option : 4
Q.71
In light of the statements | and Il choose the most appropriate option.
Eight boxes- A, B, C, D, P, Q. R and S are stacked vertically but not necessarily in the same order. Which among them is
kept immediately above R?
Statement (1) Only three boxes are kept above D and only one box is kept between D and Q. Q is kept lower than D
and is immediately below P.
Statement (1) Only one box is kept between A and C. C is kept three boxes above Q. As many boxes are kept above B
as are kept below R.
1. Only statement | is sufficient to answer the question.
2. Only statement Il is sufficient to answer the question.
3. Statement | and statement Il together are sufficient to answer the question.
4. Statement | and statement Il together are not sufficient to answer the question.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773916
Option 1 ID : 80487715581
Option 2 ID : 80487715582
Option 3 ID : 80487715583
Option 4 ID : 80487715584
Status : Answered
Chosen Option : 1
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Q.72
P, Q. R S, T, Aand B are consecutive integers (not necessarily in that order), such that the smallest of these is greater
than 60 and the greatest is less than 70. It is known that:
(I) A and B both are prime numbers.
() T is a multiple of 8.
(1) Both the digits of P are same.
(IV) The average of R and S is 63 and the difference between R and S is 2.
What is the sum of the digits of the number Q?
1.10
2.11
3.9
4.12
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773917
Option 1 ID : 80487715585
Option 2 ID : 80487715586
Option 3 ID : 80487715587
Option 4 ID : 80487715588
Status : Answered
Chosen Option : 2
Q.73

P, Q, R S, T, A and B are consecutive integers (not necessarily in that order), such that the smallest of these is greater
than 60 and the greatest is less than 70. It is known that:

(I) A and B both are prime numbers.

() T is a multiple of 9.

(lll) Both the digits of P are same.

(IV) The average of R and S is 63 and the difference between Rand S is 2.
What is the sum of A and Q if A is smaller than B?

1.126
2.128
3.120
4,122

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773918
Option 1 ID : 80487715589
Option 2 ID : 80487715590
Option 3 ID : 80487715591
Option 4 ID : 80487715592

Status : Answered
Chosen Option : 1
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Q.74
Study the following table and answer the question that follows.
The given table shows the percentage population of three states A, B and C below poverty line and the ratio of males
and females as per poverty line.
Ratio of Males (M) and Females (F)
State Percentage Population below poverty line|Below poverty line M:F/Above poverty line M:F
A 15% 3:4 1:2
B 20% 133 19:20
c  |25% 35 16:17
If the total population of state A is 51,00,000, then what is the number of females above the poverty line in state A?
1. 2890000
2.3156000
3. 2856000
4, 2870000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773919
Option 1 ID : 80487715593
Option 2 ID : 80487715594
Option 3 ID : 80487715595
Option 4 ID : 80487715596
Status : Answered
Chosen Option : 1
Q.75
Study the following table and answer the question that follows.
The given table shows the percentage population of three states A, B and C below poverty line and the ratio of males
and females as per poverty line.
Ratio of Males (M) and Females (F)
State Percentage Population below poverty line|Below poverty line M:F/Above poverty line M:F
A 15% 34 1:2
B 20% 1:3 19:20
& 25% i 16:17
If the population of state B is 42,00,000 and the population of state C is 32,00,000, then what is the sum of number of
females below poverty line in state B and number of males below poverty line in state C?
1. 8,90,000
2.9,02,200
3. 8,10,000
4.9,30,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773920
Option 11D : 80487715597
Option 2 ID : 80487715598
Option 3 ID : 80487715599
Option 4 ID : 80487715600
Status : Answered
Chosen Option : 3
Section : General Management (Hindi)
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Q1
RO 310+ T off @1 /GG -ol &l ¢l g a1dd &-
1. HhRIHD
2. AhRIHD
3. Heeldd
4. UHTHED
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773921
Option 1 ID : 80487715601
Option 2 ID : 80487715602
Option 3 ID : 80487715603
Option 4 ID : 80487715604
Status : Not Answered
Chosen Option : --
Q.2
T, ¥, [d9R, 41 & Tiad st ®I 71 $ed o7
1. 5T
2. g
3. fa=imo
4. fopa o=
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773922
Option 1 ID : 80487715605
Option 2 ID : 80487715606
Option 3 ID : 80487715607
Option 4 ID : 80487715608
Status : Not Answered
Chosen Option : --
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Q.3
fofaiad faeeal § T U8l 9190 &1 999 -
1. T 1H & HIRd I EI §
2. 7 T o HIRd B IGIE
3. B 7T &1 g B IR
4, HIH D Y B G § |
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773923
Option 11D : 80487715609
Option 2 ID : 80487715610
Option 3 ID : 80487715611
Option 4 ID : 80487715612
Status : Not Answered
Chosen Option : --
Q.4
Fafarad fabedl 5 9 S¥g ared &1 99 DIfoL-
R CEEIEA]
2. gl A Il
3, gt A I
4. it ARTE A T
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773924
Option 11D : 80487715613
Option 2 ID : 80487715614
Option 3 ID : 80487715615
Option 4 ID : 80487715616
Status : Not Answered
Chosen Option : --
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Q.5

Options 1.
2.
3.
4,
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(A) TET FHRIER 3G, HITd 5 9 Jg1geul 4 o faar|

(8) fore 3% & 1Y §0d-89d 3T W10 &1 I ae fedT |

(C) ¥Rd HeTgesl @1 HH W18
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i feu e famedl & € 1 SR & 904 BII:

1.CA DB
2.D,C A B
3.A,C DB
4.B,D, A C

AW N =

Question Type : MCQ
Question ID : 8048773925
Option 1 ID : 80487715617
Option 2 ID : 80487715618
Option 3 ID : 80487715619
Option 4 ID : 80487715620

Status : Not Answered

Chosen Option : --
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Q.6
Faffad a9l ®f uitwse Fa @ € O uga © 915 & $9 & Iafyd oifeu-
(A) TH DI Gl 1 AH Hir o411
(B) G&H §8 T &1 1 XH Il
(C) TS GTRY TS Uardt e Y
(D) Td 3R D IH R Yl &1 T Y|
(F) 3b R GA 4|
T fou e fawmeul & O 9 IO &1 94 Sifeu-
1.EA.B.D. C
2.D,E,C,A B
3.C,EBAD
4.ED,B C A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773926
Option 1 ID : 80487715621
Option 2 ID : 80487715622
Option 3 ID : 80487715623
Option 4 ID : 80487715624
Status : Not Answered
Chosen Option : --
Q.7
&2 T4 fadedl § U g d19d &I 99 Bifel-
1. AT = 39H! S Sgm
2. eg 5 39@! Y sl
3. AT < 39 9 sl
4, AT 5 39& e seEil
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773927
Option 1 ID : 80487715625
Option 2 ID : 80487715626
Option 3 ID : 80487715627
Option 4 ID : 80487715628
Status : Not Answered
Chosen Option : --
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Q.8
fFofeiad aregl o U et 2ff U s 91 @ JgaH Sifu-
1. 50 TM S IS gl
2. TR A I S g
3. 7Y A S =T B
4, T TH EHT B
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773928
Option 1 ID : 80487715629
Option 2 ID : 80487715630
Option 3 ID : 80487715631
Option 4 ID : 80487715632
Status : Not Answered
Chosen Option : --
Q.9
T Hd YS! 39 910 H difcrd &1 offg IS 94T 8iT-
1. 59
2. frgd
3, O
4. d™
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773929
Option 1 1D : 80487715633
Option 2 ID : 80487715634
Option 3 ID : 80487715635
Option 4 ID : 80487715636
Status : Not Answered
Chosen Option : --
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Chosen Option :

Q.10
Y O
Tl Y WY ol & 9 ar | Wifhd Weg &l W18 Y& TR 81T-
1.dgd
2. ¥
3. TRR
4, ‘Iﬁé
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773930
Option 1 ID : 80487715637
Option 2 ID : 80487715638
Option 3 ID : 80487715639
Option 4 ID : 80487715640
Status : Not Answered
Chosen Option : --
Q.11
SIS UAI & GHad 3 G99 & g4 @1 304 [God ®1 160 8 | 39 a/ad H 1@iithd Ug ol 87
1.9
2. 9aH
3. fa=op
4. 0d0g
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773931
Option 1 ID : 80487715641
Option 2 ID : 80487715642
Option 3 ID : 80487715643
Option 4 ID : 80487715644
Status : Not Answered
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Q.12
TE T e gl R TR 11 SUga Wil 4 Rad ®H B gid @ 54 ared &1 g0 B
1.7, B
2. 58, g
3. $a, 9d A
4. FHE, SaATgl
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773932
Option 1 ID : 80487715645
Option 2 ID : 80487715646
Option 3 ID : 80487715647
Option 4 ID : 80487715648
Status : Not Answered
Chosen Option : --
Q.13
“foraeT far A fogr o1 96 39 990 & o Ud sg, 51T
1. HHATIHE
2. Sff-ard
3. UF5p
4, 5D
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773933
Option 11D : 80487715649
Option 2 ID : 80487715650
Option 3 ID : 80487715651
Option 4 ID : 80487715652
Status : Not Answered
Chosen Option : --
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Q.14
S o (@) TTY U W1 31 & AN & o7 Uoh eg g 1TI-
1. feomar=t
2. ool
3. O
4. 34U
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773934
Option 1 ID : 80487715653
Option 2 ID : 80487715654
Option 3 ID : 80487715655
Option 4 ID : 80487715656
Status : Not Answered
Chosen Option : --
Q.15
JaX P 4T Tk 8-
1. 3PP
2. gl
3. sifaafe
45U
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773935
Option 1 ID : 80487715657
Option 2 ID : 80487715658
Option 3 ID : 80487715659
Option 4 ID : 80487715660
Status : Not Answered
Chosen Option : --
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Q.16
T Bl FAM et B-
1. 5H
2. YD
3. QGH
4. Hoofd
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773936
Option 1 ID : 80487715661
Option 2 ID : 80487715662
Option 3 ID : 80487715663
Option 4 ID : 80487715664
Status : Not Answered
Chosen Option : --
Q.17
YITRY Tga @1 o g-
1. HIURU ygd
2. STHTERT Udd
3. TR Hthaldl
4. 310d que
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773937
Option 1 ID : 80487715665
Option 2 ID : 80487715666
Option 3 ID : 80487715667
Option 4 ID : 80487715668
Status : Not Answered
Chosen Option : --
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Q.18
SE1 9 Ugd ¥0d 961 Ugd ®id’ &1 3ugad 3 -
1. ®fd & o @ off s =gl 8l
2. ®fd gfgsiidi gl
3. ®idgg g i da gt gl
4, ®id UIdd Bial g1
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773938
Option 1 ID : 80487715669
Option 2 ID : 80487715670
Option 3 ID : 80487715671
Option 4 ID : 80487715672
Status : Not Answered
Chosen Option : --
Q.19
295 U B IH-H ek I 8l 87
1. g idl
2. A
3. gfR@d=
4. TRUTTCTRT
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773939
Option 11D : 80487715673
Option 2 ID : 80487715674
Option 3 ID : 80487715675
Option 4 ID : 80487715676
Status : Not Answered
Chosen Option : --
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Q.20
e fou e ol O © ©H-3 arad i e e g ga B
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1. ®ad (A) 3R (B)
2. ®ad (B) 3R (C)
3. ®ad (C) 3R (D)
4. &ad (D) AR (F)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773940
Option 1 ID : 80487715677
Option 2 ID : 80487715678
Option 3 ID : 80487715679
Option 4 ID : 80487715680
Status : Not Answered
Chosen Option : --
Q.21
' g Wl o1 gfd 3= T g arai & U U 2heg gII-
1. TRl
2. fafeh
3. Uiftqufa®r
4. Yacduida®l
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773941
Option 1 ID : 80487715681
Option 2 ID : 80487715682
Option 3 ID : 80487715683
Option 4 ID : 80487715684
Status : Not Answered
Chosen Option : --
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Q.22
T 1 B 9N G 1@ EH B -
e T
EHERN et
(A) Pail U HiT qleT | (1) &¢ Ug de |
(B) Dctall 3UST BHII (1) Y- ST BTl
(C) E-EIET GAMT | (111) ST BT |
(D) G- M | (V) =19 BT |
=i feu 7T famedl # O Wl I 31 997 DIt
1. (A)-(1). (B)-(11), (C)-(1), (D)-(1V)
2. (A)-(11), (B)-(1). (©)-(1), (D)-(1V)
3. (A)-(1, (B)-(1V), (C)-(1), (D)-(1)
4. (A)-(1V), (B)-(1N), (C)-(1). (D)-(li)
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773942
Option 1 ID : 80487715685
Option 2 ID : 80487715686
Option 3 ID : 80487715687
Option 4 ID : 80487715688
Status : Not Answered
Chosen Option : --
Q.23
What will be the profit percentage on selling an article at a certain price if there is 30% loss on selling the article at g of
the selling price?
1.20%
2.25%
3 33%%
4. 16;%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773947
Option 1 ID : 80487715705
Option 2 ID : 80487715706
Option 3 ID : 80487715707
Option 4 ID : 80487715708
Status : Not Answered
Chosen Option : --
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Q.24
Consider the given statement and decide which of the given assumptions is/are implicit in the statement.
Statement : This year most of the retail stores are offering heavy discounts and gifts on their products to customers to
meet their targets.
Assumptions :
1) Huge inventories of goods is left unsold in retail stores and sales were not satisfactory.
1) Retail stores have so far earned a lot of profit, so now they have started sharing it with their customers.
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only assumption | is implicit
2. Only assumption Il is implicit
3. Both assumptions | and Il are implicit
4. Neither assumption | nor Il is implicit
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773964
Option 11D : 80487715773
Option 2 ID : 80487715774
Option 3 ID : 80487715775
Option 4 ID : 80487715776
Status : Not Answered
Chosen Option : --
Q.25
Directions : The symbols % , ? and @ are used with the following meanings:
A % B = Ais greater than B
A ? B = Alis either greater than or equal to B
A @ B = Ais smaller than B
Statement: T@ Q,STM QR U@S, S@T
Conclusions :
NQ%s
nuert
In light of the above statements,choose the most appropriate answer from the options given below.
1. If only conclusion {I) is true
2. If only conclusion (I} is true
3. If both conclusion (I) and (11) are true
4. If neither conclusion (1) nor (Il) is true
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773974
Option 11D : 80487715813
Option 2 ID : 80487715814
Option 3 ID : 80487715815
Option 4 ID : 80487715816
Status : Not Answered
Chosen Option : --
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Q.26
In an election between two candidates, a candidate who got 30% of the total votes is defeated by 15000 votes. The
number of votes obtained by the winning candidate is:-
1.26,250
2.25250
3. 24,250
4.26,150
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773948
Option 11D : 80487715709
Option 2 ID : 80487715710
Option 3 ID : 80487715711
Option 4 ID : 80487715712
Status : Not Answered
Chosen Option : --
Q.27
Aman invested a sum of X P for 2 years at 12% p a compound interest and received some interest. Ajay invested I
(P+3000) for 3 years at 8% p a simple interest and received the interest same as received by Aman. The sum invested
by Aman is
1. % 25,000
2.% 50,000
3.3 60,000
4.% 65,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773945
Option 1 ID : 80487715697
Option 2 ID : 80487715698
Option 3 ID : 80487715699
Option 4 ID : 80487715700
Status : Not Answered
Chosen Option : --
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Q.28
Select a suitable figure from the four alternatives that would complete the figure matrix.
R S
1 ‘
2 —?
3 +
. +
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773961
Option 11D : 80487715761
Option 2 ID : 80487715762
Option 3 ID : 80487715763
Option 4 ID : 80487715764
Status : Not Answered
Chosen Option : --
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Q.29
Choose the correct alternative from the given options that will complete the series:
BC2, GH3, LM5, QR7,?
1. VW10
2. VW 11
3. XW 11
4. RS 10
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773972
Option 1 ID : 80487715805
Option 2 ID : 80487715806
Option 3 ID : 80487715807
Option 4 ID : 80487715808
Status : Not Answered
Chosen Option : --
Q.30
6 men or 5 women earn 16,800 in 4 days. How much will 4 women and 6 men earn in one day?
1.3 7160
2.37260
3. 37460
4.3 7560
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773955
Option 1 ID : 80487715737
Option 2 ID : 80487715738
Option 3 ID : 80487715739
Option 4 ID : 80487715740
Status : Not Answered
Chosen Option : --
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Q.31

P and Q can do a piece of work in 8 and 12 days respectively. If they work for a day alternately, beginning with P, then
the work will be completed in how many days?

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773957
Option 11D : 80487715745
Option 2 ID : 80487715746
Option 3 ID : 80487715747
Option 4 ID : 80487715748

Status : Not Answered
Chosen Option : --
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Q.32
Select the related figure from the given alternatives:
) @
2. i 2
’ @
) @
Options 1. 1
2.2
3.3
4.4
Question Type :
Question ID
Option 11D :
Option 2 ID
Option 31D :
Option 4 ID
Status :
Chosen Option :

MmcaQ

: 8048773973

80487715809

: 80487715810

80487715811

: 80487715812

Not Answered
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Q.33
A tank has four pipes Py, Pz, P3 and P4. The tank can be filled in 15 minutes by pipes Py, Pz, P together. It can be filled
in 20 minutes by pipes Py, Pz, P4 together and it can be filled by pipes P, P4 together in 30 minutes. If all the pipes are
opened together, then in how much time will the tank be filled?
1. 10 min 20 sec
2.12 min 20 sec
3. 13 min 20 sec
4. 11 min 20 sec
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773950
Option 11D : 80487715717
Option 2 1D : 80487715718
Option 3 ID : 80487715719
Option 4 ID : 80487715720
Status : Not Answered
Chosen Option : --
Q.34
Select a figure from the options figures which will continue the same series as established by the five prablem figures.
AlA|OAO]?
. Q
e
AN
1©
©
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773962
Option 11D : 80487715765
Option 2 ID : 80487715766
Option 3 ID : 80487715767
Option 4 ID : 80487715768
Status : Not Answered
Chosen Option : --
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Q.35
The symbols hold a specific meaning all mentioned below:
“A # B" means A is greater than B
“A @ B" means A is equal to B
"A % B" means A is smaller than B
Statements : X #Y, 7% Y W@ Z
Conclusions:
0 Y% W
nx#z
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only conclusion (1) follows
2. only Cenclusion (1) follows
3. Both Conclusions follow
4, Neither (I) nor {II) follow
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773975
Option 1 ID : 80487715817
Option 2 ID : 80487715818
Option 3 ID : 80487715819
Option 4 ID : 80487715820
Status : Not Answered
Chosen Option : --
Q.36
On a straight road, a bus is 60 km ahead of a car running in the same direction. After 3 hours, the car is 90 km ahead of
the bus. If the speed of the bus is 45 km/h, then what is the speed of the car (in km/h)?
1.90
2.92
3.95
4.105
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773952
Option 1 ID : 80487715725
Option 2 ID : 80487715726
Option 3 ID : 80487715727
Option 4 ID : 80487715728
Status : Not Answered
Chosen Option : --
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Q.37
5 men and 4 women can earn T 20000 in 8 days. 10 men and 7 women can earn 23,750 in 5 days. In how many days
will 5 men and 6 women earn T 12,0007
1.3
2.4
3.5
4.6
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773954
Option 11D : 80487715733
Option 2 ID : 80487715734
Option 3 ID : 80487715735
Option 4 ID : 80487715736
Status : Not Answered
Chosen Option : --
Q.38
In a certain code language:
' Logical Reasoning Exam' is written as 'G12 17 D13'.
'Intention Really Matters" is written as '114 F25 G19'
Then how to write ' Work Hard' in the given code?
1.D011 D9
2.D011 D4
3.011 E9
4. 010 D4
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773969
Option 1 ID : 80487715793
Option 2 ID : 80487715794
Option 3 ID : 80487715795
Option 4 ID : 80487715796
Status : Not Answered
Chosen Option : --
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Q.39
Which conclusion would follow the given statements.
Statement :
Some Apples are Banana.
Some bananas are Grapes.
No Grape is Book.
Conclusion:
(1) Some Apples are Book is a possibility.
{Il) All Bananas are Book.
In light of the above statements, choose the most appropriate answer from the options given below.
1. Only conclusion | follows
2. Only conclusion Il follows.
3. Both conclusions | and Il follow
4. Neither conclusion | nor Il follows
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773965
Option 11D : 80487715777
Option 2 ID : 80487715778
Option 3 ID : 80487715779
Option 4 ID : 80487715780
Status : Not Answered
Chosen Option : --
Q.40
Four friends A, B, C, D went to four different cities Indore, Noida, Gurugram and Nagpur for interviews in four different
companies PP, QQ. RR and S5 but not necessarily in the same order. 'A’ was not invited by PP. "B’ did not go to
Gurugram and was not invited by RR and PP. RR conducted its interview in Nagpur. 'C' went to Indore. ‘A’ did not go to
Nagpur and was not invited by SS.
In which company, C's interview was scheduled?
1..PP
2.QQ
3.RR
4,55
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773959
Option 11D : 80487715753
Option 2 ID : 80487715754
Option 3 ID : 80487715755
Option 4 ID : 80487715756
Status : Not Answered
Chosen Option : --
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Q.41
A and B started a business with investment of < 60,000 and T 90,000 respectively. After 5 months, B left the business
and C joined with a capital which is ¥ 60,000 less than that of B. If at the end of the year, the share of C in the profit was
% 42,000, then find the total profit earned at the end of the year.
1.%2,16,000
2.3 2,36,000
3.3 246,000
4.3 2,76,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773943
Option 1 ID : 80487715689
Option 2 ID : 80487715690
Option 3 ID : 80487715691
Option 4 ID : 80487715692
Status : Not Answered
Chosen Option : --
Q.42

Four friends A, B, C, D went to four different cities Indore, Noida, Gurugram and Nagpur for interviews in four different
companies PP, QQ, RR and SS but not necessarily in the same order. ‘A’ was not invited by PP. "B’ did not go to

Gurugram and was not invited by RR and PP. RR conducted its interview in Nagpur. 'C' went to Indore. ‘A’ did not go to
Nagpur and was not invited by SS.

Who went to Nagpur?

1A
2.B
B
4.D

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773960
Option 1 ID : 80487715757
Option 2 ID : 80487715758
Option 3 ID : 80487715759
Option 4 ID : 80487715760

Status : Not Answered
Chosen Option : --
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Q.43
Which one will replace the question mark?
6 il 3 q
9 2 3 7
1 2 3 2
1.3
2.4
3.5
4.6
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773971
Option 1 ID : 80487715801
Option 2 ID : 80487715802
Option 3 ID : 80487715803
Option 4 ID : 80487715804
Status : Not Answered
Chosen Option : --
Q.44
A and B have to travel from place P to place Q following the same route in their respective cars. A drives at 60 kmph
while B drives at 80 kmph. Find the time taken by B to reach place Q if A takes 12 hrs.
1.8 hrs
2.10 hrs
3.9hrs
4. 6hrs
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773951
Option 1 ID : 80487715721
Option 2 ID : 80487715722
Option 3 ID : 80487715723
Option 4 ID : 80487715724
Status : Not Answered
Chosen Option : --
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Q.45
A and B together can complete a task in 15 days. If A works half as efficiently as he usually does and B works thrice as
efficiently as he usually does, then the task gets completed in 8 days. How many days would A take to do the task if he
works alone?
1. 33%
2. 66%
3, 26%
4.30
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773956
Option 1 ID : 80487715741
Option 2 ID : 80487715742
Option 3 ID : 80487715743
Option 4 ID : 80487715744
Status : Not Answered
Chosen Option : --
Q.46
What will come in place of question mark (?) in the following series:
12,6,6,9, 18,7
1.42
2.45
3. 50
4. 55
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773966
Option 1 ID : 80487715781
Option 2 ID : 80487715782
Option 3 ID : 80487715783
Option 4 ID : 80487715784
Status : Not Answered
Chosen Option : --
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Q.47
A sum of T 61,000 is lent on simple interest in two parts in such a way that the interest on one part at 10% for 5 years is
equal to that on the other part at 9% for 8 years. The sum lent at 10% is :-
1.% 39,000
2.3 36,000
3.332,000
4. % 30,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773944
Option 11D : 80487715693
Option 2 ID : 80487715694
Option 3 ID : 80487715695
Option 4 ID : 80487715696
Status : Not Answered
Chosen Option : --
Q.48
Three pipes A, B and C can fill a tank in 10, 15 and 20 hours respectively. Pipe A was opened at 6 AM, pipe B at 7 AM
and pipe C at 8 AM. At what time was the tank completely filled, if pipe C needs a break of 1 hour after remaining open
for 3 hours?
1.11:20 AM
2.12:30 PM
3.11:30 AM
4.12:15 PM
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773949
Option 11D : 80487715713
Option 2 ID : 80487715714
Option 3 ID : 80487715715
Option 4 ID : 80487715716
Status : Not Answered
Chosen Option : --

https://cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//208302579/208302579S39D21469/1743339484654446/BR07020154... 68/85



4/22/25,9:57 PM

cdn3.digialm.com//per/g28/pub/2083/touchstone/AssessmentQPHTMLMode 1//208302579/208302579539D21469/1743339484654446/BR. ..

Q.49
If CRAFT is coded as 5 — 21 - 3 - 9 -22. In the same code language ,how will you code ORDER?
LAY =2126-1=20
257 =21 =6 - =21
3.17-20-6-8-20
4.17-21-6-8-20
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773968
Option 1 ID : 80487715789
Option 2 ID : 80487715790
Option 3 ID : 80487715791
Option 4 ID : 80487715792
Status : Not Answered
Chosen Option : --
Q.50
The positions of how many digits in the number 2451379638 will remain same when the first half and the second half
of the digits are arranged in ascending order separately?
1. One
2. Two
3. Three
4. Zero
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773958
Option 1 ID : 80487715749
Option 2 ID : 80487715750
Option 3 ID : 80487715751
Option 4 ID : 80487715752
Status : Not Answered
Chosen Option : --
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Q.51
In the following question, select the missing number from the given series:
2,5 17,71, 7 2159
1. 349
2.359
3. 369
4. 379
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773970
Option 11D : 80487715797
Option 2 ID : 80487715798
Option 3 ID : 80487715799
Option 4 ID : 80487715800
Status : Not Answered
Chosen Option : --
Q.52
Read both statements carefully and select the option accordingly.
Statement (I): This year, there is an unprecedented increase in the number of unemployed youth compared to the
previous year.
Statement (I): A large number of highly educated candidates submitted applications for the post of clerk advertised by
a bank.
In light of the above statements, choose the mest appropriate answer from the options given below.
1. If statement | is the cause and statement Il is its effect
2. If statement |l is the cause and statement | is its effect
3. If both the statements | and Il are independent causes
4. If both the statements | and Il are effects of some common cause
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773963
Option 1 ID : 80487715769
Option 2 ID : 80487715770
Option 3 ID : 80487715771
Option 4 ID : 80487715772
Status : Not Answered
Chosen Option : --
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Q.53
Two bikes were sold for a total of ¥ 1,50,000. One bike was sold at 33 %% loss and the other at 20% profit. The cost
price of the first bike is equal to the selling price of the other bike. Find the over all loss.
1.% 10,000
2.%12,000
3.% 15,000
4.7 18,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773946
Option 1 ID : 80487715701
Option 2 ID : 80487715702
Option 3 ID : 80487715703
Option 4 ID : 80487715704
Status : Not Answered
Chosen Option : --
Q.54
A train running at the speed of 80 kmph crosses a 250 m long platform in 26 seconds. What is the length of the train
(in m)?
1. 300
2.400
3. 500
4. 600
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773953
Option 11D : 80487715729
Option 2 ID : 80487715730
Option 3 ID : 80487715731
Option 4 ID : 80487715732
Status : Not Answered
Chosen Option : --
Q.55
Rakesh left home and walked 5km southwards, then turned right and walked 2km and again turned right and walked 5
km and finally again turned left and walked 5 km. The shortest distance between the final position and home is .
1.6 km
2.7km
3.9km
4.10 km
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773977
Option 1 ID : 80487715825
Option 2 ID : 80487715826
Option 3 ID : 80487715827
Option 4 ID : 80487715828
Status : Not Answered
Chosen Option : --
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Q.56 Point A is 30 m to the North of point B. Point A is 10 m to the west of point C. Peint C is 20m to the North of point D.
Point E is 20 m to the East of point D. Point F is 20 m to the South of point E. What is the shortest distance from the
point B to point E.
1. 10v10m
2.80m
3.10m
4. 4/5m
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773976
Option 1 ID : 80487715821
Option 2 ID : 80487715822
Option 3 ID : 80487715823
Option 4 ID : 80487715824
Status : Not Answered
Chosen Option : --
Q.57
A and B are brothers, R and S are sisters. A's son is §'s brother. How is B related to R?
1. Uncle
2. Brother
3. Grand father
4, Father
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773967
Option 1 ID : 80487715785
Option 2 ID : 80487715786
Option 3 ID : 80487715787
Option 4 ID : 80487715788
Status : Not Answered
Chosen Option : --
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Q.58
In college B, each student participated in any one or both the sports, Hockey and football. 36% of the students
participated in both the sports. The number of students who participated in only Football is 120% more than those
who participated in only Hockey. The total number of students who participated in only one of the sports is 960.
Find the ratio of number of students who participated in Hockey to those in only football?
1.22:21
2.14:11
3.29:49
4.41:31
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773978
Option 11D : 80487715829
Option 2 ID : 80487715830
Option 3 ID : 80487715831
Option 4 ID : 80487715832
Status : Not Answered
Chosen Option : --
Q.59
In college B, each student participated in any one or both the sports, Hockey and Football. 36% of the students
participated in both the sports. The number of students who participated in only Football is 120% more than those
who participated in only Hockey. The total number of students who participated in only one of the sports is 960.
What percentage of the students who participated in Hockey, participated in only Hockey?
2
1.35=
355%
2.36%
3.3529
-355 %
4. 35%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773979
Option 11D : 80487715833
Option 2 ID : 80487715834
Option 3 ID : 80487715835
Option 4 ID : 80487715836
Status : Not Answered
Chosen Option : --
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Q.60
The following pie-chart shows the amount collected by a shopkeeper by selling four different food items in degrees.
The total amount collected is 64,800.
= Bengali Dishes
= Pujabi Dishes
= Gujarati Dishes
= Chinese Dishes
Find the average amount collected from the sales of Bengali dishes, Punjabi dishes and Gujarati dishes.
1.%21,190
2.%11,190
3.%21,109
4,317,064
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773980
Option 1 ID : 80487715837
Option 2 ID : 80487715838
Option 3 ID : 80487715839
Option 4 ID : 80487715840
Status : Not Answered
Chosen Option : --
Q.61

The fellowing pie-chart shows the amount collected by a shopkeeper by selling four different food items in degrees.
The total amount collected is 64,800.

= Bengali Dishes
= Pujabi Dishes
= Gujarati Dishes

= Chinese Dishes

The amount collected by selling Chinese dishes is approximately what percentage more than the amount collected by
selling Bengali dishes?

1.30%
2.50%
3.20%
4.10%

Options 1.
2.
3.
4,

A W N =

Question Type : MCQ
Question ID : 8048773981
Option 1 ID : 80487715841
Option 2 ID : 80487715842
Option 3 ID : 80487715843
Option 4 ID : 80487715844

Status : Not Answered
Chosen Option : --
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Q.62
The following line graph shows the number of questions asked from different topics of quantitative aptitude in two
shifts of CAT exam. Study the following line graph carefully and answer the question that follows.
120
100
£
8 &
ia
g = shift |
a
o 40 . S i 11
z
0
t } } t }
Percentage Profit-Loss Ages Average Mixture
Topics
The number of questions asked in shift | from the topic Profit-Loss is what percent more than the number of questions
asked in shift Il from the topic Average?
1. 250%
2.180%
3.120%
4.150%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773982
Option 1 ID : 80487715845
Option 2 ID : 80487715846
Option 3 ID : 80487715847
Option 4 ID : 80487715848
Status : Not Answered
Chosen Option : --
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Q.63
The following line graph shows the number of questions asked from different topics of quantitative aptitude in two
shifts of CAT exam. Study the following line graph carefully and answer the question that follows.
120
100
£
2 80
ia
g = shift |
a
o 40 e ST 11
z
0
—————— :
Percentage Profit-Loss Ages Average Mixture
Topics
What is the ratio of number of questions asked from the topics Profit-Loss and Percentage taken together in shift | to
those asked from the topics Ages and Average taken together is shift 117
1.7:6
2.7:5
3.87
4.8:3
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773983
Option 1 ID : 80487715849
Option 2 ID : 80487715850
Option 3 ID : 80487715851
Option 4 ID : 80487715852
Status : Not Answered
Chosen Option : --
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Q.64
Study the following bar-graph carefully and answer the following question. The bar-graph shows the number of pens
(in thousand) sold by three shopkeepers X, Y and Z in 5 different years.
| - E
s B
e
g
E®
s 8
d
Z 19
Year
= |
The total number of pens sold by shopkeeper X in years 2020 and 2022 taken together is what percentage less than
the total number of pens sold by shopkeeper Z in years 2021 and 2024 taken together? (correct to two decimal places)
1.11.11%
2.22.22%
3.33.33%
4.44.44%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773984
Option 11D : 80487715853
Option 2 ID : 80487715854
Option 3 ID : 80487715855
Option 4 ID : 80487715856
Status : Not Answered
Chosen Option : --
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Q.65
Study the following bar-graph carefully and answer the following question. The bar-graph shows the number of pens
(in thousand) sold by three shopkeepers X, Y and Z in 5 different years.
Bl e
-
= ¥
2 g0
Ea
£ 60 =
e —
5 =5
a
= N 20
¢ £ B
Z 10 j—
2020 2021 2022 2023 2024
Year
o |
The number of pens sold by shopkeeper Y in the year 2020 is 25% more than the number of pens sold by him in the
year 2019 and the number of pens sold by shopkeeper Z in the year 2019 is 20% less than those sold by him in the
year 2020. Find the total number of pens sold by the shopkeepers Y and Z in the year 2019.
1.1,15,000
2.1,00,000
3.1.,90,000
4.1,12,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773985
Option 1 ID : 80487715857
Option 2 ID : 80487715858
Option 3 ID : 80487715859
Option 4 ID : 80487715860
Status : Not Answered
Chosen Option : --
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Q.66
The following table shows the total number of people who were stuck in traffic jam while geing to their office on
working days of a week due to construction of a flyover. Table also shows the ratio of male to female among them.
Study the table carefully and answer the following question.
Days Total number of people Male : Female
stuck in traffic jam
Monday 6300 34
Tuesday 4800 15
Wednesday 5000 37
Thursday 2500 23
Friday 5400 45
Of the people stuck in traffic jam, if 30% males on Tuesday and 40% males on Wednesday reached their office on
regular time of the office, then how many males got late on Tuesday and Wednesday taken together?
1.1260
2.1250
3.1350
4. 1460
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773986
Option 1 ID : 80487715861
Option 2 ID : 80487715862
Option 3 ID : 80487715863
Option 4 ID : 80487715864
Status : Not Answered
Chosen Option : --
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Q.67
The following table shows the total number of people who were stuck in traffic jam while geing to their office on
working days of a week due to construction of a flyover. Table also shows the ratio of male to female among them.
Study the table carefully and answer the following question.
Total number of people
Days Male : Female)
stuck in traffic jam
Monday 6300 34
Tuesday 4800 1:5
Wednesday 5000 37
Thursday 2500 2:3
Friday 5400 45
Find the average number of females who were stuck in traffic on working days.
1.3120
2.3220
3.3520
4. 3000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773987
Option 11D : 80487715865
Option 2 ID : 80487715866
Option 3 ID : 80487715867
Option 4 ID : 80487715868
Status : Not Answered
Chosen Option : --
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Q.68
The following bar graph shows the production of Iron in a country (in lakh tonnes) in different years.
200
700
= 700
H 500
§ 600
% 500 =
£ a00
5 a00
5 300
-
o 200
o 200
0
2010 2011 2012 2013 2014
Years
The pie chart shows the production of Iron (in lakh tonnes) by five different companies A, B, C, D and E in 2013. These
companies are the only ones to produce iron in all the given years.
Company D produced 75% more iron in 2014 than produced by it in 2013. What percent of iron produced in 2014 was
produced by company D?
1.24%
2.25%
3.28%
4. 30%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773988
Option 11D : 80487715869
Option 2 ID : 80487715870
Option 3 ID : 80487715871
Option 4 ID : 80487715872
Status : Not Answered
Chosen Option : --
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Q.69
The following bar graph shows the production of Iron in a country (in lakh tonnes) in different years.
200
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The pie chart shows the production of Iron (in lakh tonnes) by five different companies A, B, C, D and E in 2013. These
companies are the only ones to produce iron in all the given years.
The production of iron by company A in 2013 is what percent of the total iron produced by all the companies during
the given years?
1. 4%
2.8%
3.10%
4. 20%
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773989
Option 1 ID : 80487715873
Option 2 ID : 80487715874
Option 3 ID : 80487715875
Option 4 ID : 80487715876
Status : Not Answered
Chosen Option : --
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Q.70
In light of the statements | and Il choose the most appropriate option.
If a group comprises of five persons A, B, C, D and E, then how many persons are taller than E?
Statement (1) A is taller than B and B is shorter than A and E only.
Statement (Il) C is shorter than A and A is shorter than E.
1. Only statement | is sufficient to answer the guestion.
2. Only statement |l is sufficient to answer the question.
3. Any of the statements | and Il is sufficient to answer the question.
4. Both statement | and statement Il together are required to answer the question.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773990
Option 11D : 80487715877
Option 2 ID : 80487715878
Option 3 ID : 80487715879
Option 4 ID : 80487715880
Status : Not Answered
Chosen Option : --
Q.71
In light of the statements | and Il choose the most appropriate option.
Eight boxes- A, B, C, D, P, Q, R and S are stacked vertically but not necessarily in the same order. Which among them is
kept immediately above R?
Statement (1) Only three boxes are kept above D and only one box is kept between D and Q. Q is kept lower than D
and is immediately below P.
Statement (II) Only one box is kept between A and C. C is kept three boxes above Q. As many boxes are kept above B
as are kept below R.
1. Only statement | is sufficient to answer the question.
2. Only statement Il is sufficient to answer the question.
3. Statement | and statement Il together are sufficient to answer the question.
4. Statement | and statement Il together are not sufficient to answer the question.
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773991
Option 1 ID : 80487715881
Option 2 ID : 80487715882
Option 3 ID : 80487715883
Option 4 ID : 80487715884
Status : Not Answered
Chosen Option : --
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Q.72
P, Q. R S, T, Aand B are consecutive integers (not necessarily in that order), such that the smallest of these is greater
than 60 and the greatest is less than 70. It is known that:
(I) A and B both are prime numbers.
() T is a multiple of 8.
(1) Both the digits of P are same.
(IV) The average of R and S is 63 and the difference between R and S is 2.
What is the sum of the digits of the number Q?
1.10
2.11
3.9
4.12
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773992
Option 1 ID : 80487715885
Option 2 ID : 80487715886
Option 3 ID : 80487715887
Option 4 ID : 80487715888
Status : Not Answered
Chosen Option : --
Q.73

P, Q. R S, T, A and B are consecutive integers (not necessarily in that order), such that the smallest of these is greater
than 60 and the greatest is less than 70. It is known that:

(I) A and B both are prime numbers.

() T is a multiple of 9.

(lll) Both the digits of P are same.

(IV) The average of R and S is 63 and the difference between Rand S is 2.
What is the sum of A and Q if A is smaller than B?

1.126
2.128
3.120
4,122

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Question ID : 8048773993
Option 1 ID : 80487715889
Option 2 ID : 80487715890
Option 3 ID : 80487715891
Option 4 ID : 80487715892

Status : Not Answered
Chosen Option : --
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Q.74
Study the following table and answer the question that follows.
The given table shows the percentage population of three states A, B and C below poverty line and the ratio of males
and females as per poverty line.
Ratio of Males (M) and Females (F)
State Percentage Population below poverty line|Below poverty line M:F/Above poverty line M:F
A 15% 3:4 1:2
B 20% 133 19:20
C 25% 355 16:17
If the total population of state A is 51,00,000, then what is the number of females above the poverty line in state A?
1. 2890000
2. 3156000
3. 2856000
4, 2870000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773994
Option 11D : 80487715893
Option 2 ID : 80487715894
Option 3 ID : 80487715895
Option 4 ID : 80487715896
Status : Not Answered
Chosen Option : --
Q.75
Study the following table and answer the question that follows.
The given table shows the percentage population of three states A, B and C below poverty line and the ratio of males
and females as per poverty line.
Ratio of Males (M) and Females (F)
State Percentage Population below poverty line|Below poverty line M:F/Above poverty line M:F
A 15% 3:4 1:2
B 20% T3 19:20
C 25% 3:5 16:17
If the population of state B is 42,00,000 and the population of state C is 32,00,000, then what is the sum of number of
females below poverty line in state B and number of males below poverty line in state C?
1. 8,90,000
2.9,02,200
3. 8,10,000
4.9,30,000
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Question ID : 8048773995
Option 11D : 80487715897
Option 2 ID : 80487715898
Option 3 ID : 80487715899
Option 4 ID : 80487715900
Status : Not Answered
Chosen Option : --
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